

Invoice To
McBains
26 Finsbury Square
London
EC2A 1DS

Account No MCBA0001

Ref	Our ref	Date	17/06/2025	Quote No	0000006374	
-----	---------	------	------------	-----------------	------------	--

Code	Description	Quantity	Unit Price	Value
	Ground Floor Unisex Toilets			
D3_FH_COR	Duct Panel Set : In A Corner Full Height (3) 2400mm Wide 300mm Deep 2035mm High	1	£912.90	£912.90
S360_COR_DI_3	Essential (S3:60) SGL Cubicle - Corner (3) 2400mm Wide 1260mm Deep 1960mm High	1	£2339.51	£2339.51
D1_FH_COR	Duct Panel Set : In A Corner Full Height (1) 795mm Wide 250mm Deep 2035mm High	1	£359.53	£359.53
S360_BTW_DI_1	Essential (S3:60) SGL Cubicle BTW (1) 1440mm Wide 1960mm High	1	£488.37	£488.37
WT3TROUGH1830	WT3 Solid Surface Trough Custom Size 1300mm Wide	1	£973.04	£973.04
VF_TROUGH_BTW	_ 3 Station Vanity Unit for Trough 1300mm Wide 700mm High	1	£499.40	£499.40
SGL_BOXING	SGL -Boxing Panel 1440mm Wide 200mm Deep 150mm High	1	£73.08	£73.08
	First Floor Boys Toilets			
D6_CH_BTW	Duct Panel Set: Between Walls Cubicle Height (6) 4467mm Wide 300mm Deep 1960mm High	1	£1657.02	£1657.02



Invoice To
McBains
26 Finsbury Square
London
EC2A 1DS

Account No MCBA0001

Ref	Our ref	Date	17/06/2025	Quote No	00000	06374
Code	Description			Quantity	Unit Price	Value
S360_BTW_DI_6	Essential (S3:60) SGL Cubicl Wide 1400mm Deep 1960mm	` ,	4467mm	1	£3700.95	£3700.95
D2_FH_COR	Urinal Duct Panel Set : In A C 1300mm Wide 250mm Deep			1	£621.12	£621.12
PSCREEN_PED_150	OSGL Privacy Screen with Pec Wide 1960mm High	destal - 150)mm 750mm	2	£262.41	£524.82
WT3TROUGH1830	WT3 Solid Surface Trough C Wide	ustom Size	1300mm	2	£973.04	£1946.08
VF_TROUGH_BTW_	3 Station Vanity Unit for Trou	gh 1300mr	n Wide	2	£499.40	£998.80
SURCHARGE_TW	ESG Surcharge			1	£150.95	£150.95
CARRIAGE_CUB_B	Cubicles Carriage			2	£491.60	£983.20
	Sanitaryware					
	Ground Floor Unisex WC					
S3125	Contour 21 Splash Back to w	all 355 Rim	nless Sch	4	£187.91	£751.64



Invoice To
McBains
26 Finsbury Square
London
EC2A 1DS

Account No MCBA0001

Ref	Our ref Da	te 17/06/2025	Quote No	000000	6374
Code	Description		Quantity	Unit Price	Value
S4545	Splash 355mm Toilet Seat - No Cov	er, White	4	£68.66	£274.64
S3324	CONCEALA 3 CISTERN PNEUMA	TIC SF SI	4	£44.54	£178.16
S1085	PUSH BUTTON PALM PNEUMATI	C SF CHROME	4	£15.42	£61.68
PK3719	Face Fix Coat Hook with Buffer		4	£2.94	£11.76
745101	Tempostop Non-Concussive Tap A	nti-Block (Rever	3	£107.44	£322.32
40015CP	15mm TMV-3		1	£35.95	£35.95
BC337W	Maxi Jumbo Dispenser		4	£30.25	£121.00
BC233	FLX Refillable Liquid Soap Dispens	er BC233FLX	2	£21.95	£43.90
MR4040X	6mm mirror – 400 x 400 square c/w corners	50mm radiused	3	£45.57	£136.71
	Velair F9+ Hand Dryers		1	£150.00	£150.00



Invoice To McBains 26 Finsbury Square London EC2A 1DS

Account No MCBA0001

Ref	Our ref	Date	17/06/2025	Quote No	0000006374	
	C 41. 10.		, 00, 2020	~~~~	000000011	

Code	Description	Quantity	Unit Price	Value
	First Floor Boys Toilets			
S3125	Contour 21 Splash Back to wall 355 Rimless Sch	6	£187.91	£1127.46
S4545	Splash 355mm Toilet Seat - No Cover, White	6	£68.66	£411.96
S3324	CONCEALA 3 CISTERN PNEUMATIC SF SI	6	£44.54	£267.24
S1085	PUSH BUTTON PALM PNEUMATIC SF CHROME	6	£15.42	£92.52
PK3719	Face Fix Coat Hook with Buffer	6	£2.94	£17.64
745101	Tempostop Non-Concussive Tap Anti-Block (Rever	6	£107.44	£644.64
40015CP	15mm TMV-3	2	£35.95	£71.90
S6110	Contour Bowl Fully Concealed Trap Urinals	2	£252.78	£505.56
S9275	Concealed hangers for wall hung urinal/pr	2	£3.34	£6.68



Invoice To McBains 26 Finsbury Square London EC2A 1DS

Account No MCBA0001

Deliver To Dundonald Primary School

Ref	Our ref	Date	17/06/2025	Quote No	00000	06374
Code	Description			Quantity	Unit Price	Value
S9276	S927667 Toggle bolts for wa (pair)	all hung cont	our urinal	2	£12.74	£25.48
WUS52WH	1.5 inch Domed Un-slotted	Waste Outle	t (with metal	2	£2.02	£4.04
S1156	CONCEALA 1 CISTERN 9L	AUTO (NEV	V)	1	£31.65	£31.65
S6286	Sanura S6286AA Back Inlet	Spreader		2	£22.49	£44.98
S6227	2 Bowl Concealed Flushpipe	e Set		1	£97.20	£97.20
BC337W	Maxi Jumbo Dispenser			6	£30.25	£181.50
BC233	FLX Refillable Liquid Soap [Dispenser BC	C233FLX	4	£21.95	£87.80
MR4040X	6mm mirror – 400 x 400 squ corners	are c/w 50m	m radiused	6	£45.57	£273.42
	Velair F9+ Hand Dryers			1	£150.00	£150.00
	Note: Bolt through coat hook available	k version (PK	(1461) also			

MAKING IT. HYGIENIC.

01707 254 170 sales@trovex.com trovex.com

Axiom House Travellers Close Welham Green AL9 7JL

Clients Signature:





Total (ex. VAT)

£22358.20

Print: Date:

Please check, sign and return one copy of this document as confirmation of your acceptance of all details.